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https://www.youtube.com/playlist?list=PLUI4u3cNGP63EdVPNLG3ToM6LaEUuUStEY

e 1. Algorithms and Computation

e 2. Data Structures and Dynamic Arrays



https://www.youtube.com/playlist?list=PLUl4u3cNGP63EdVPNLG3ToM6LaEUuStEY

1. Algorithms and
Computation
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Don't measure time, instead count ops

Expect performance to depend on size of our input

O(n) upper bound Q(n) lower bound 6 both
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2. Data Structures and
Dynamic Arrays
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Representation ( )
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How to store data ( )
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Word RAM(Random Access
Machine) Model
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